TFT R

ALJ S JEEES T T

AH) 3 rESR

BB (K51, B3A)

3d° +5ab—2b°— bc +6¢“ — 11ca

(2 (x+2y—1) (x—y+1) W x=4%/21
vooa=2 b=y3-1 2 -3-/3 tan9=—@
(6) 9:8

(1)

TREITHLPLEEH TR

()

DEFATH AR TE RV

DEEHTHLPTHEM TR

(7)

b EORWRE x WFIANC 3, y TR -2 7203 AT
BET2L, B y=22"-4x+9 1B - /-
= y=22"—4r+9 Z x W1 =3, y W7
2VATREIT B LD L OBIFICRE S,
= y-2=2(z+3)%-4(z+3) +9 TOREIEML
T, y=20"+8x+17
(A%
y=22"—4x+9=2(x-1D*+7 o F D IEAIF (1, 7) =
ML, x5S, v I -2 725 TR S e 72
LN, b LOBWMOTENIE (-2, 9) THAHZ
EW D,
IoT, RKopHWHoORIT y=2(x+2)"+9 Xz &M
LT y=2r"+8x+17

y=r'-zx+c ¥EWTHE
RS AL SN
y‘(“’” 2) g e e

SRIVEA 2= L hoT

5 (-1=x <1) OHPFET

3, r=-1 0L EXIIRAES 2L D,
EoT5=(-1)°-(-1)+c &V, c=3

7 DLV, x=% 0>2:§6:§'%/J\11§% 22

g 34 % @ 504081 =

2 iy + 329 5 23.7
(1) B (2|3 . 3) b i w7 .

fili 25 fili 33 : 5 T (32850 2 (e MTA) 26 o P (RO T 1474)

(B2 1, ¥%&57A]



